—RARBROFHE

RD1RAERNEFRT,

1) 2x—5=7 2) —6x+3=4x—12 3) 3(2x+4)=5x
_ _1 2 . x+l
4) 09x+1=12x—-2 () x—2x+1 6) 3% 1= 2
RO 1 RFRAE IR
1) x+2=8 (2) x—5=4 Q) 7x=21
4) —3x=18 (5 4x=11

RO 1 RABER &R,
1) 5x—1=9 2) 7x+9=0 Q) 4x=18—-2x
(4) 5x+6=3x+2 (5) 2x—3=6x+15

RO | RFRAE IR
1) 5x=2x-9 (2) 4x+7=8x—1

RO 1 RAER &MY
(1) 7x—12=4x (2) 3x+11=5x—-3

[6] RD 1 RTGREAERT,
1) 2x4+3=9 (2) 5x—4=2x+8

RD1RGEREBI I,

1) x—2=3 2) 2x—5=1
3) 3x+5=0 (4) 5x+5=7x—3
5) dx+1=—x—4 6) 3x—1=2x+6

RD1RAEREBI LRIV,

(1) x—3=4 (2) 4x—7=1
3) 5x+4=0 4) 4x+4=7Tx-2
) 2x+5=—x—4 6) Sx—2=4x+5

(9] KO 1L RABKEMEZI W,
1) 3x—2=0 2) 4x+1=-7
3) x+5=5x+1 4) 2x+8=-3x+38




